% p (@ kolme desimaalia, toimintojen jdrjestys suluilla

Nimi: Paivimaara:  Pisteet:
(61,2 +27)+9 = (20,7-31,5)+9=
(6,9+3,9)x6,6= (18,8 +21,6)+4=
6(5,3—-2,4)= (17,4 +15,9)+3 =
2,3(5,2—-4,7) = (6,1 —3,3)x4,4=
4(5,9+2,9) = (3,9—-4,8)x2,7=
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% p (@ kolme desimaalia, toimintojen jdrjestys suluilla

Nimi: Paivamaara: _ Pisteet:
(61,2+27)+9=938 (20,7-31,5)+9=-1.2
(6,9+3,9)x6,6="71.28 (18,8 +21,6)+4=10.1
6(5,3—-2,4)=174 17,4+ 15,9)+=3=11.1
2,3(5,2—-4,7)=1.15 (6,1 -3,3)x4,4=12.32
4(5,9+2,9)=352 (3,9—-4,8)x2,7=-243
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